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Oto play 12

Player: 40.62% (G:13.74% B:0.66%)

Opponent: 59.38% (G:17.48% B:0.74%)
2.  Rollout! 13/11* 13/12*

Player: 36.41% (G:16.41% B:0.91%)

Opponent: 63.59% (G:19.17% B:1.07%)
3.  Rollout! 24/22 8/7*

Player: 37.29% (G:13.90% B:0.75%)

Opponent: 62.71% (G:19.23% B:1.08%)
4,  Rollout 13/11* 8/7*

Player: 35.23% (G:15.44% B:0.88%)

Opponent: 64.77% (G:20.26% B:1.27%)
5.  Rollout! 24/22 4/3

Player: 35.89% (G:11.80% B:0.60%)

Opponent: 64.11% (G:19.81% B:1.08%)
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score: 0
pip: 175
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Unlimited Game
Jacoby Beaver
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g % pip: 142
= = score: 0
. OE = O'is You
6 5 4 3 1
bbb--8-:0:0:1:12:0:0:3:0:10

Conf.: £ 0.008 (-0.369...-0.352) - [100.0%)]
Duration: 44 minutes 48 seconds

eq: -0.490 (-0.129)
Conf.: £ 0.010 (-0.500...-0.480) - [0.0%]
Duration: 43 minutes 00 second

eq: -0.505 (-0.144)
Conf.: £ 0.009 (-0.514...-0.495) - [0.0%]
Duration: 46 minutes 00 second

eq: -0.542 (-0.182)
Conf.: £ 0.010 (-0.552...-0.533) - [0.0%]
Duration: 37 minutes 12 seconds

eq: -0.583 (-0.222)
Conf.: £ 0.009 (-0.592...-0.574) - [0.0%]
Duration: 42 minutes 14 seconds
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15254 Games rolled with Variance Reduction
Moves: 3-ply, cube decisions: XG Roller
Search interval: Huge
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